11/18/2011 : Calc3-Assignment28 Bert G. Wachsmuth

Panel 1

{‘“U ) Find a conservative vector field that has the given potential: —
flz.y.2) = sin(a:2 +y: +z:) —

Find div(v-F) and cwrl(F)=V xF

F(x,v.z) =< ¥’z )‘Zx,_'r +2z>

~ Evaluate j'(:{—_v)dt+xd}‘ if C is the graph of v* = x from (4.,-2) to (4,2)
c

Find the work done by F(x.y.z) along the curve <r,,7’ > from (0, 0, 0) to (2, 4, 8), where |

F(x,y,2)=<y,z2.x > —

Check which of the following vector fields is not conservative.
F(x,y)=<3x7y+2.x° +4p° >
F(x,v)=<e"3-e"sin(y) >

F(x,v,2) =< 8xz,1-6yz" 4x* —9y%z" >

Show that the line integrals are independent of the path, and find their value:
(3.11)
I(}'z +2x)dx + (17 +2xp)dx —
(-1.2)
(2.1.3)
J' (6x° +220)dx +(9x2y )y + (4xz +1)dz
(10,2} —

Panel 2
E [ ' -ll'k}\ . I-—-—-—\I ;
Igfiq-o’t' Jodx + (Fx+yute)' ] dy
'j‘«.(l 4 [(]

(&
wbere  C o [l crcfe x"+1"=‘4

(¥ ]
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Panel 3

| 15-Evaluate: [2(x + y)dv + 2(x + y)dy  C-curve-from (-2, 2)to-(4,3)

c

— 16. Find the work done by the force field F =<9x?y?,6x°y 1> from P(0,0) to Q(5,9) —

Panel 4

I 18. Evaluate §2_\ydx +(x+ y)dv where C bounds the region between y=0 and y=4-x*. —|
c

21. Evaluate j;xsin( v2)— 13)dx + (xF cos(y?) + 3x)dv where C is the boundary of the trapezoid |
[

—— with vertices (0, -2), (1, -1), (1, 1), and (0, 2). —
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